Tekst 8 Bugs a la mode

1p 33 Which of the following is not mentioned as a benefit of eating insects in
paragraph 1?
A Farming insects does less damage to the world’s ecosystem than
traditional farming.
B Farming insects is probably the way to help prevent starvation in parts

of the world.

C Insects can be sold for a bigger profit than most conventional farm
animals.

D Insects contain just as many essential nutrients as foods they can
replace.

“they’re gross” (paragraph 2)
1p 34 How does Gordon try to challenge this notion?
A by comparing the nutritional value of insects with that of eggs
B by denying that dietary preferences are personal and predetermined
C by describing a generally accepted product in a graphic way
D by stressing that eating insects helps to reduce global warming

1p 35 Which of the following fits the gap in paragraph 3?
A However
B Instead
C Likewise
D Moreover

1p 36 What is the main function of paragraph 3?

A to analyse the motives of institutions that are trying to get people to
eat insects

B to demonstrate a variety of methods aimed at getting people to eat
insects

C to make clear why trying to get people to eat insects is of the utmost
importance

D to stress the fact that insects need to be cooked before people will be
prepared to eat them

E to suggest how campaigns meant to get people to eat insects can be
improved

1p 37 Wat maakt de vergelijking van de “ento box” (alinea 3) met sushi duidelijk

over het eten van insecten?
Geef antwoord in het Nederlands.
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